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1. Write and solve each of the following linear equations.

TN
a. Romeo has a certain amount of candy heartsll_e_g,h_e
— —

amount left. JHow many candy hearts did Romeo have initially?
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b. cﬁm\gﬁve integ@ave a@ill&. Wh—a_t'are the three integers?
Laks= |5 it aga e =@D
X+ (= 3“&|“\%F=HH(
K237 iwilge( 4H2 4D
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c. Heatheris reading a book that h@ges. She already read some of it last week. She plans to
reac@ages tomorrow. By then, she will @h’i he way through the book} How many pages did

Heather read last week? LB\N\M ,ko ‘9
Ao y= hunlor of 9ages Aor v
(as+ \.uenlz aﬂ

X120 3 \R6\
X+20 3\
- 20 - 20
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a. Without solving, identify whether each of the following equations has a unique solution, no solution,
or infinitely many solutions.

i. 2x+3=@4@ /VD S'Olu’/'e'(ov\,'

AxF D=2 Y
el 1) = 3@1) +41 (§x—60) M—C‘.:\'\k',
Lox-TL =X -\ e O

L = -
12xJS'3x= 8?+1+4‘?)< 12—

(2 y+q= 1L+ ) ol Ao
iv. m)=10x—6—8x ’\/ D S

D= 26 I jnk

v. 3x+10=8x-2

A V\V\'\ﬂ\;\g Sluik 1 W
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b. Solve the following equation for a number x.lVerifv that your solution is correct. '

: ’;)(‘\"2:—\’)'7
) > 5Co=-13

_ "= 13
A \ -2
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c. Solve the following equation for a number x. Verify that your solution is correct.

Checl< B A
5(¢. 5> 2+3(Qs)—q(¢,51¢> <2><—1 x4

“x

|32.5- 2+\ﬂ“}4({1%¥*" N
S0-50v W&

Cf“%%sl
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a. The Incredible Hulk paid $8: ;5 for five pounds of proé powder. Assuming each pound of protein
powder costs the same amount, complete the table of values representing the cost of protein
powder in pounds.

Protein
Powder in 1 2 3 4 5 6 7 8
Pounds (x)

Cost in ﬁ’:?sﬁso'iggs &7@) $8.75 ”0% ,9:5!'1-(00

Dollarsi{)a’

o, /& 175
12 | /
11 | /{

10

N\

3 4 5 6
ﬁ’owv\oQJ
c. Onthe same day, Incredible Hulk’s friend, Spiderman, was charged $6 for 2.5 Ibs. of protein powder.
Explain in terms of the graph why this must be a mistake.

2.5lbs shonld (oSt bmuM o
85 6((0\(A\v\% A YW OQWQ

BONUS: What is the equation of the line that you drew in 3b?
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